Continued fractions and the derangement polynomials of types A and B *

Lily Li Liu

School of Mathematical Sciences, Qufu Normal University, Qufu 273165, PR China

Abstract

In this paper, we give the continued fraction expansions of the ordinary generating functions of the derangement polynomials of types A and B in a unified manner. Our proof is based on their exponential generating functions and the theory of exponential Riordan arrays.

MSC: 05A20; 05A15; 30F70

Keywords: Derangement polynomials of type A; Derangement polynomials of type B; Riordan arrays; Continued fractions

1 Introduction

Let S_n denote the symmetric group on the set $[n] = \{1, 2, 3, \ldots, n\}$. If $\sigma \in S_n$, then we write $\sigma = \sigma_1 \sigma_2 \cdots \sigma_n$, to mean that $\sigma(i) = \sigma_i$ for $i = 1, 2, \ldots, n$. The permutation $\sigma \in S_n$ is called a *derangement* if $\sigma_i \neq i$ for $i = 1, 2, \ldots, n$ (i.e., σ has no fixed points). We denote the set of all derangements of S_n by D_n . An element $i \in [n]$ is called an *excedance* of the permutation $\sigma \in S_n$ if $\sigma_i > i$. Denote $e(\sigma)$ by the number of excedances of σ . Brenti [3] defined the derangement polynomials of type A by

$$d_n(q) = \sum_{\sigma \in D_n} q^{e(\sigma)},$$

for $n \ge 1$ and $d_0(q) = 1$. Brenti [3] obtained that $d_n(q)$ is symmetric and unimodal. And he further proposed the conjecture that the derangement

Email addresses: liulily@mail.qfnu.edu.cn (L.L. Liu)

^{*}This work was supported in part by the National Natural Science Foundation of China (No. 11201260), the Domestic Visiting Scholar Program of the Young Teacher of Shandong Province and the Program for Scientific Research Innovation Team in Applied Probability and Statistics of Qufu Normal University (No. 0230518).

polynomials of type A $d_n(q)$ has only real zeros for $n \ge 1$. This conjecture has been settled by Zhang [14], Canfield as mentioned in [4] and Liu and Wang [11] independently, based on the following recurrence relation

$$d_n(q) = (n-1)qd_{n-1}(q) + q(1-q)d'_{n-1}(q) + (n-1)qd_{n-2}(q),$$

for $n \ge 2$ (see [14] for instance). In 2011, Chen and Xia [7] presented that for $n \ge 6$, the derangement polynomials of type A $d_n(q)$ are strictly ratio monotone, which implies the spiral property and the log-concavity, except for the last term when n is even.

Following Björner and Brenti [2], we regard B_n as the group of all signed permutations on the set [n], i.e., the group of all bijections σ of the set $[\pm n]$ in itself such that $\sigma(-i) = -\sigma(i)$, for all $i \in [\pm n]$, with composition as group operation. If $\sigma \in B_n$, then we also write $\sigma = \sigma_1 \sigma_2 \cdots \sigma_n$, to mean that $\sigma(i) = \sigma_i$ for $i = 1, 2, \ldots, n$. A derangement of type B on [n] is a signed permutation $\sigma = \sigma_1 \sigma_2 \cdots \sigma_n$ such that $\sigma_i \neq i$, for all $i \in [n]$. Let D_n^B denote the set of all derangements in B_n . Brenti [5] introduced the definition of excedances of type B. Given $\sigma \in B_n$ and $i \in [n]$, we say that i is a type B excedance of σ if $\sigma_i = -i$ or $\sigma_{|\sigma_i|} > \sigma_i$. We denote $e_B(\sigma)$ by the number of type B excedances of σ . Following Brenti's definition of excedances of type B, Chen, Tang and Zhao [6] gave a type B analogue of the derangement polynomials defined by

$$d_n^B(q) = \sum_{\sigma \in D_n^B} q^{e_B(\sigma)} = \sum_{k=0}^n d_{n,k} q^k,$$

for $n \ge 1$, where $d_{n,k}$ is the number of derangements in D_n^B with exactly k excedances of type B. For n=0, set $d_0^B(q)=1$. Chen, Tang and Zhao [6] derived some basic properties of the derangement polynomials of type B, such as the generating function formular, the Sturm sequence property, the asymptotic normal distribution, and the spiral property. In this paper, we get the continued fraction expressions of the ordinary generating functions of the derangement polynomials of types A and B in a unified manner.

This paper is organized as follows. In section 2, using the theory of exponential Riordan arrays and orthogonal polynomials, we give the continued fraction of the ordinary generating function of the polynomial sequence, whose exponential generating function generalizes the exponential generating function of the derangement polynomials of types A and B. As applications, we obtain the continued fraction expressions of the derangement polynomials of types A and B in a unified manner in section 3. Finally, in the Appendix, we can obtain a quick introduction to the exponential Riordan arrays and the orthogonal polynomials used in this paper.

where $\bar{f}(x)$ is the compositional inverse of f(x).

By the direct calculation, we have

$$f'(x) = \frac{(1-q)^2 e^{d(1-q)x}}{(1-qe^{d(1-q)x})^2}.$$

Note that the compositional inverse of f(x) satisfies

$$f(\bar{f}(x)) = \frac{e^{d(1-q)\bar{f}} - 1}{d(1 - qe^{d(1-q)\bar{f}})} = x.$$

Then we have

$$\bar{f}(x) = \frac{1}{d(1-q)} \ln \left(\frac{1+dx}{1+dqx} \right).$$

Hence

$$r(x) = f'(\bar{f}(x)) = (1 + dx)(1 + dqx) = 1 + d(1 + q)x + d^2qx^2.$$

On the other hand, set

$$G(x) = \left(\frac{(1-q)e^{a(1-q)x}}{1-qe^{d(1-q)x}}\right)^{b}.$$

Then we have

$$G'(x) = b \left(\frac{(1-q)e^{a(1-q)x}}{1-qe^{d(1-q)x}} \right)^{b-1} \frac{(1-q)^2 e^{a(1-q)x} (a + (d-a)qe^{d(1-q)x})}{(1-qe^{d(1-q)x})^2}.$$

So

$$\frac{G'(x)}{G(x)} = \frac{b(1-q)(a+(d-a)qe^{d(1-q)x})}{1-qe^{d(1-q)x}}.$$

$$\frac{G'(\bar{f}(x))}{G(\bar{f}(x))} = \frac{b(1-q)(a+(d-a)qe^{d(1-q)\bar{f}})}{1-qe^{d(1-q)\bar{f}}}$$

$$= ab(1+dqx)+b(d-a)q(1+dx)$$

$$= b(a+(d-a)q)+bd^2qx.$$

Note that

$$G(x) = e^{abx}g(x).$$

Hence we can get that

$$G'(x) = abe^{abx}g(x) + e^{abx}g'(x).$$

2 Main results

In this section, we give the continued fraction expression of the ordinary generating function of the polynomial sequence $\{T_n(q)\}_{n\geqslant 0}$, whose exponential generating function generalizes the exponential generating functions of the derangement polynomials of types A and B.

Theorem 2.1. Suppose that the exponential generating function of the polynomial sequence $\{T_n(q)\}_{n\geq 0}$ has the following simple expression

$$g(x) = \sum_{n \ge 0} \frac{T_n(q)}{n!} x^n = \left(\frac{(1-q)e^{-aqx}}{1 - qe^{d(1-q)x}}\right)^b, \tag{2.1}$$

for $a, b, d \in \mathbb{R}$. Then the ordinary generating function of $\{T_n(q)\}_{n\geqslant 0}$ can be given by the continued fraction

$$h(x) = \sum_{n \geqslant 0} T_n(q) x^n = \frac{1}{1 - s_0(q)x - \frac{t_1(q)x^2}{1 - s_1(q)x - \frac{t_2(q)x^2}{1 - s_2(q)x - \cdots}}}, \quad (2.2)$$

where

$$s_i(q) = di + (di + bd - ab)q$$
 and $t_{i+1}(q) = d^2(i+1)(i+b)q$ (2.3)

for $i \geqslant 0$.

In order to prove this theorem, we need three lemmas. Using the theory of the exponential Riordan arrays, the first lemma presents that the production matrix P of the exponential Riordan array L = [g(x), f(x)], where g(x) is the exponential generating function of $\{T_n(q)\}_{n\geqslant 0}$ given by (2.1), is tri-diagonal.

Lemma 2.1. The production matrix P of the exponential Riordan array

$$L = [g(x), f(x)] = \left[\left(\frac{(1-q)e^{-aqx}}{1 - qe^{d(1-q)x}} \right)^b, \frac{e^{d(1-q)x} - 1}{d[1 - qe^{d(1-q)x}]} \right],$$

for $a, b, d \in \mathbb{R}$, is tri-diagonal.

Proof. In order to get the production matrix P, it suffices to calculate r(x) and c(x). Recall that

$$r(x) = f'(\bar{f}(x)), \quad c(x) = \frac{g'(\bar{f}(x))}{g(\bar{f}(x))},$$

Thus

$$\frac{G'(x)}{G(x)} = ab + \frac{g'(x)}{g(x)}.$$

Now we can get that

$$c(x) = \frac{g'(\bar{f}(x))}{g(\bar{f}(x))} = \frac{G'(\bar{f}(x))}{G(\bar{f}(x))} - ab = b(d-a)q + bd^2qx.$$

Thus the production matrix P of L is tri-diagonal, where

$$P = \begin{pmatrix} s_0(q) & 1 & 0 & 0 & 0 & 0 \cdots \\ t_1(q) & s_1(q) & 1 & 0 & 0 & 0 \cdots \\ 0 & t_2(q) & s_2(q) & 1 & 0 & 0 \cdots \\ 0 & 0 & t_3(q) & s_3(q) & 1 & 0 \cdots \\ 0 & 0 & 0 & t_4(q) & s_4(q) & 1 \cdots \\ 0 & 0 & 0 & 0 & t_5(q) & s_5(q) \cdots \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \ddots \end{pmatrix}, (2.4)$$

with $s_i(q)$ and $t_{i+1}(q)$ given by (2.3).

The second lemma constructs a family of orthogonal polynomials related to the production matrix P of the exponential Riordan array L = [g(x), f(x)].

Lemma 2.2. Suppose that the production matrix P of an exponential Riordan array L is tri-diagonal as above (2.4). Then we can construct a family of orthogonal polynomials $Q_n(x)$ defined by

$$Q_n(x) = (x - s_{n-1}(q))Q_{n-1}(x) - t_{n-1}(q)Q_{n-2}(x), (2.5)$$

with $Q_0(x) = 1$ and $Q_1(x) = x - s_0(q)$, where coefficients $s_{n-1}(q)$ and $t_{n-1}(q)$ are given by the expression (2.3) for $n \ge 1$.

Proof. In order to construct the family of orthogonal polynomials $Q_n(x)$, it suffices to get the coefficient matrix A of $Q_n(x)$ such that

$$\begin{pmatrix} Q_0(x) \\ Q_1(x) \\ Q_2(x) \\ Q_3(x) \\ \vdots \end{pmatrix} = A \begin{pmatrix} 1 \\ x \\ x^2 \\ x^3 \\ \vdots \end{pmatrix}. \tag{2.6}$$

So by the condition and the Favard's Theorem 4.1 in Appendix, we need to get that the orthogonal polynomials $Q_n(x)$ satisfies the following

$$P\begin{pmatrix}Q_{0}(x)\\Q_{1}(x)\\Q_{2}(x)\\Q_{3}(x)\\\vdots\end{pmatrix} = \begin{pmatrix}s_{0}(q) & 1 & 0 & 0 & 0 & 0 & \cdots\\t_{1}(q) & s_{1}(q) & 1 & 0 & 0 & 0 & \cdots\\0 & t_{2}(q) & s_{2}(q) & 1 & 0 & 0 & \cdots\\0 & 0 & t_{3}(q) & s_{3}(q) & 1 & 0 & \cdots\\\vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \ddots\end{pmatrix}\begin{pmatrix}Q_{0}(x)\\Q_{1}(x)\\Q_{2}(x)\\Q_{3}(x)\\\vdots\end{pmatrix}$$

$$= \begin{pmatrix}xQ_{0}(x)\\xQ_{1}(x)\\xQ_{2}(x)\\xQ_{3}(x)\\\vdots\end{pmatrix}.$$

$$\vdots$$

After arrangement, we want to prove that the coefficient matrix A satisfies

$$PA \begin{pmatrix} 1 \\ x \\ x^{2} \\ x^{3} \\ \vdots \end{pmatrix} = A \begin{pmatrix} x \\ x^{2} \\ x^{3} \\ x^{4} \\ \vdots \end{pmatrix} = A\overline{I} \begin{pmatrix} 1 \\ x \\ x^{2} \\ x^{3} \\ \vdots \end{pmatrix}, \tag{2.7}$$

where $\bar{I} = (\delta_{i+1,j})_{i,j \geqslant 0}$.

Since the polynomials sequence $\{x^k\}_{k\geqslant 0}$ is linearly independence. So the coefficient matrices of the first and last polynomials in (2.7) are equal, i.e., $PA = A\bar{I}$. Since

$$P = L^{-1}\bar{L}, \bar{I} = \bar{L}L^{-1}.$$

So we need to prove that the coefficient matrix A will satisfy

$$L^{-1}\bar{L}A = A\bar{L}L^{-1}.$$

Obviously we can get that $A = L^{-1}$ is a coefficient matrix of the orthogonal polynomials $Q_n(x)$ satisfying (2.5). The proof of the lemma is complete. \square

Remark 2.1. Lemma 2.2 has been proved by Barry [1]. However our proof is more natural and based on the algebraic method.

The last lemma, obtained by Barry [1], gave the connection between the production matrix and the moments sequence of orthogonal polynomials.

Lemma 2.3 ([1]). Let L, $T_n(q)$ and $Q_n(x)$ be as above. Then we have $\{T_n(q)\}_{n\geq 0}$ is the moments sequence of the associated family of orthogonal polynomials $Q_n(x)$.

Now we can obtain that the ordinary generating function of $\{T_n(q)\}_{n\geqslant 0}$ is given by the continued fraction (2.2) from Theorem 4.2, which proves Theorem 2.1.

3 The derangement polynomials of types A and B

In this section, we can give the continued fraction expressions of the derangement polynomials of types A and B in a unified manner.

For the derangement polynomials of type A, it is known that the exponential generating function is

$$\sum_{n\geq 0} d_n(q) \frac{x^n}{n!} = \frac{(1-q)e^{-qx}}{1-qe^{x(1-q)}},\tag{3.1}$$

(see Brenti [3] and Chow and Gessel [8]). So when a = b = d = 1, we have $T_n(q) = d_n(q)$. From Theorem 2.1, the ordinary generating function of $d_n(q)$ can be given by the continued fraction

of
$$d_n(q)$$
 can be given by the continued fraction
$$\sum_{n\geqslant 0}d_n(q)x^n=\frac{1}{1-\frac{qx^2}{1-(1+q)x-\frac{4qx^2}{1-2(1+q)x-\frac{9qx^2}{1-3(1+q)x-\cdots}}},$$

with $s_i(q) = i(1+q)$ and $t_{i+1}(q) = (i+1)^2 q$ for $i \ge 0$.

For the derangement polynomials of type B, Chen, Tang and Zhao [6] obtained that the exponential generating function has the following expression

$$\sum_{n>0} d_n^B(q) \frac{x^n}{n!} = \frac{(1-q)e^{-qx}}{1 - qe^{2x(1-q)}}.$$
 (3.2)

Hence when a = b = 1, d = 2, we have $T_n(q) = d_n^B(q)$. Now from Theorem 2.1, we get the ordinary generating function of the derangement polynomials of type B is given by

$$\sum_{n\geqslant 0} d_n^B(q)x^n = \frac{1}{1 - (1+q)x - \frac{4qx^2}{1 - (2+3q)x - \frac{16qx^2}{1 - (4+5q)x - \cdots}}}.$$

Here $s_i(q) = 2i + (2i+1)q$ and $t_{i+1}(q) = 4(i+1)^2q$ for $i \ge 0$.

4 Appendix

The exponential Riordan array [1, 9, 10] denoted by L = [g(x), f(x)], is an infinite lower triangular matrix whose exponential generating function of the kth column is $g(x)(xf(x))^k/k!$ for $k = 0, 1, 2, \ldots$, where $g(0) \neq 0 \neq f(0)$. An exponential Riordan array $L = (l_{i,j})_{i,j\geqslant 0}$ can also be characterized by two sequences $\{c_n\}_{n\geqslant 0}$ and $\{r_n\}_{n\geqslant 0}$ such that

$$l_{0,0} = 1, \quad l_{i+1,0} = \sum_{j \geqslant 0} j! c_j l_{i,j}, \quad l_{i+1,j} = \frac{1}{j!} \sum_{k \geqslant j-1} k! (c_{k-j} + j r_{k-j+1}) l_{i,j},$$

for $i, j \ge 0$ (see [9] for instance). Call $\{c_n\}_{n\ge 0}$ and $\{r_n\}_{n\ge 0}$ the c- and r- sequences of L respectively. Associated to each exponential Riordan array L = [g(x), f(x)], there is a matrix $P = (p_{i,j})_{i,j\ge 0}$, called the *production matrix*, whose bivariate generating function is given by

$$e^{xy}[c(x) + r(x)y],$$

where

$$c(x) = \frac{g'(\bar{f}(x))}{g(\bar{f}(x))} := \sum_{n \geqslant 0} c_n x^n, r(x) = f'(\bar{f}(x)) := \sum_{n \geqslant 0} r_n x^n.$$

Deutsch et al. [9] obtained that elements of the production matrix $P = (p_{i,j})_{i,j \ge 0}$ is given by

$$p_{i,j} = \frac{i!}{j!}(c_{i-j} + jr_{i-j+1}).$$

Assume that $c_{-1} = 0$. Note that

$$P = L^{-1}\bar{L}, \bar{I} = \bar{L}L^{-1},$$

where \bar{L} is obtained from L with the first row removed and $\bar{I} = (\delta_{i+1,j})_{i,j \geq 0}$, where $\delta_{i,j}$ is the usual Kronecker symbol.

The following well-known results establish the relationship among the orthogonal polynomials, three-term recurrences, recurrence coefficients and the continued fraction of the generating function of the moments sequence. The first result is the well-known "Favard's Theorem".

Theorem 4.1 ([12, Théoréme 9 on p. I-4], or [13, Theorem 50.1]). Let $\{p_n(x)\}_{n\geqslant 0}$ be a sequence of monic polynomials with degree $n=0,1,2,\ldots$ respectively. Then the sequence $\{p_n(x)\}_{n\geqslant 0}$ is (formally) orthogonal if and only if there exist sequences $\{\alpha_n\}_{n\geqslant 0}$ and $\{\beta_n\}_{n\geqslant 1}$ with $\beta_n\neq 0$ such that the three-term recurrence

$$p_{n+1}(x) = (x - \alpha_n)p_n(x) - \beta_n p_{n-1}(x)$$

holds, for $n \ge 1$, with initial conditions $p_0(x) = 1$ and $p_1(x) = x - \alpha_0$.

Theorem 4.2 ([12, Proposition 1 (7) on p. V-5], or [13, Theorem 51.1]). Let $\{p_n(x)\}_{n\geqslant 0}$ be a sequence of monic polynomials, which is orthogonal with respect to some linear functional \mathcal{L} . For $n\geqslant 1$, let

$$p_{n+1}(x) = (x - \alpha_n)p_n(x) - \beta_n p_{n-1}(x),$$

be the corresponding three-term recurrence which is guaranted by Favard's theorem. Then the generating function

$$h(x) = \sum_{k=0}^{\infty} \mu_k x^k$$

for the moments $\mu_k = \mathcal{L}(x^k)$ satisfies

$$h(x) = \frac{\mu_0}{1 - \alpha_0 x - \frac{\beta_1 x^2}{1 - \alpha_1 x - \frac{\beta_2 x^2}{1 - \alpha_2 x - \frac{\beta_3 x^2}{1 - \alpha_3 x - \cdots}}}.$$

Acknowledgments

The author thanks the anonymous referee for careful reading and valuable suggestions.

References

- [1] P. Barry, Riordan arrays, Orthogonal polynomials as moments, and Hankel transforms, J. Integer Seq. 14 (2011), Article 11.2.2.
- [2] A. Björner, F. Brenti, Combinatorics of Coxeter Groups, Grad. Texts in Math., vol. 231, Springer-Verlag, 2005.
- [3] F. Brenti, Unimodal polynomials arising from symmetric functions, Proc. Amer. Math. Soc. 108 (1990) 1133-1141.
- [4] F.Brenti, Permutation enumeration, symmetric functions and unimodality, Pacific J. Math. 157 (1993) 1-28.
- [5] F. Brenti, q-Eulerian polynomials arising from Coxeter Groups, European J. Combin. 15 (1994) 417-441.
- [6] W.Y.C. Chen, R.L. Tang, A.F.Y. Zhao, Derangement polynomials and excedances of type B, Electron. J. Combin. 16 (2009).

- [7] W.Y.C. Chen, E.X.W. Xia, The ratio monotonicity of the q-derangement numbers, Discrete Math. 311 (2011) 393-397.
- [8] C.-O. Chow, I.M. Gessel, On the descent numbers and major indices for the hyperoctahedral group, Adv. in Appl. Math. 38 (2007) 275–301.
- [9] E. Deutsch, L. Ferrari, S. Rinaldi, Production matrices and Riodan arrays, Ann. Comb. 13 (2009) 65-85.
- [10] E. Deutsh, L. Shapiro, Exponential Riordan arrays, Lecture Notes, Nankai University, 2004, available electronically at —http://www.combinatorics.net/ppt2004/Louis
- [11] L.L. Liu, Y. Wang, A unified approach to polynomial sequences with only real zeros, Adv. in Appl. Math. 38 (2007) 542-560.
- [12] G. Viennot, Une théorie combinatoire des polynômes orthogonaux généraux, UQAM, Montreal, Quebec, 1983.
- [13] H.S. Wall, Analytic Theory of Continued Fractions, AMS Chelsea Publishing, 2000.
- [14] X.D. Zhang, On q-derangement polynomials, Combinatorics and Graph Theory 95, Vol. 1 (Hefei), World Sci. Publishing, River Edge, NJ, 1995, pp. 462–465.